Force and Motion Practice Test

I

On a road trip, Mike drives 2.5 hours and covers 100 miles. He then takes an hour break
for lunch. He finishes the trip by covering 140 miles in 3.5 hours. What was his average

speed? Show all steps and'work. - M 4 2y O i
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2. A snail crawls a distance of 10 meters in a time of 5 hours. What 1s ‘her average speed"
Show all steps and work.
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What kind of graph is pictured above? How do you know? & pe ad 'tf,ﬂ cause 1 Fs eaxes

¢
In which interval was speed greatest? 2. O ~ 3¢y § @re d‘“‘“”‘ % Prame

Develop and answer a question about this graph. A gﬁ Seee d 7 uvo _
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What kind of graph is pictured above? How do youknow? A ¢z levw ahon, be Cause | ¥
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Develop and answer a question about this graph.
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9. What causes acceleration? (f a4 hatarme od $uce @

10. Label as scalar or vector; . - : ' P

\a. 27N at I5degrees 4
. 27mph east .
3 km
Force o B
~ Speed . ;

wdin
o pe o

11. Two deer are pushing on each other’s antlers.  One deer pushes 200N east while the other
deer pushes 150N west. What is the net force? Which direction will the deer go?
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